T6EE NAXHTHEE

— B A N B BB R =



SHeoEE RAXZHFESE — B AT EHMR G
R A B T
—— L = Eﬂ *; B e AEEIHENSRTAE 4 W i =
1 El}_\f Ya—REE 313, 252 308,518 4,734
1 JU—2v2I741RA 284, 581 279, 867 4,714
gY) -2 74 0A 284, 581 279, 867 4, 14| A15#&59, 745N
2 T TBFARRIA 11, 483 11,676 A 193
IJL 78R BB AA 11, 483 11,676 A 193|&% - 0.5R 1 A350H
3% E I A 16, 770 16, 562 208
58 iE Uy A 7,123 7,034 8955 /5. BENAREHE
g £ & I A 100 100 0
B i Il A 9,547 9,428 119
4 1 WIr-BREHIIRA 418 413 5
I WIT-BREHIA 418 413 511 A%YTH
2 {&fé‘ﬂ—zgi 481, 358 477, 847 3,511
1 JUy—2vI7141A 329, 453 326, 369 3,084
Fg1Y)—2T7 4 A 329, 453 326, 369 3, 084| A15#&41, 340N - 0.5R4, 134 A - &600A7800A
2 TITEBFARIIA 16, 557 15, 823 734
JJL 78R B A A 16, 557 15, 823 734|&% 1 A650M - 0.5R 1 A350M
3 EAA—FRA 46, 507 46, 477 30
FRAHD— FIA 46, 507 46, 477 30(1, 125/ A
4 % E W A 15, 770 16, 141 A 371
5t iE Iy A 13,970 14, 341 A 371|505, BEIRFTH
g H & I A 1, 800 1, 800 0
5 FTHOEEEIA 22,1732 22,729 3
B 2 IR A 22,1732 22,729 JBEREBME
6 31T NI7-RERURA 318 320 A 2
I WIT-BREHIA 318 320 A 2|1 A%Y7H

-1 -




e L qjiﬂ ﬂa 8 g AEEHEmEETAE % W #
7% 0 f I A 50, 021 49,988 33
z 0 # oW A 50, 021 49,988 33[1. 210m/ A
BeENEBEIA 112, 454 117,387 A 4,933
;ﬁﬁg{*ﬁﬁ%‘ﬁ 88, 007 93,172 A 5,165
GaAEETEEHINA 88, 007 93,172 A 5165
B A NERABIRA 23, 447 23,215 232
@& NEF ARIRA 23, 447 23,215 232|thEeE, mEEE. BRI, ELERS
BENERERA 1,000 1,000 0
£ B I A 1,000 1,000 N
it A E 2 FUA 299, 078 252, 816 46, 262
A BB EIA 299, 078 252,816 46, 262
A EBERA 299, 078 252,816 46, 262
F £ 4 A 11, 440 12, 429 A 989
g m A T 4 4 0
2 m M T 4 4 0
# iz A 11, 436 12, 425 A 989
# 1y A 11, 436 12, 425 A 989
Bl F 442 WA 0 0 0
EX T T LN 0 0 0
EE T ELEN 0 0 0
T)L 7B HEREH 0 0 0
A TIL 75 HEER5E N 0 0 0
WA - -
)L DB HEERFEEIR A 0 0 0
#® A 2 1 1 0
1 A 2 1 1 0
1 A % 1 1 0




W ® ® B
AEETHEMEETEE B W s
X ® H m & B N B OB Al B i
9 # s 318, 232 385, 901 A 67,669
#® it & 318, 232 385, 901 A 67,669
% 2 318, 232 385, 901 A 67,669
a B 1,535,815 1,554,899 A 19,084




X B M
= L = iﬂ *; 2 e AERIHENSETAE % W ﬁﬁ =
1 viFYa—z=E2E 264, 694 244, 554 20, 140

1B £ &€ B & 104,018 94, 376 9, 642
1 # # F E] 19,110 17,474 1,636|MEHMH - KE - EF - BHFY - PERFL - 4
2®@ M E £ % 4,191 4,284 A 93|FK - BERRE - #2RKREEE - 4
3 8 & 39,077 36, 937 2, 140 [E&rsm 8
4 i -4 1 1 0
b % & B 1 1 0
s& @ & 1 i 0
1 F £ # 4,552 4, 456 96 (ILy" vhi-b FHk ., FHRITFHH. i
s® ®m s 1 1 0
9 # R U B #H 1,901 1,525 J16|FAAH—b+ - aE—#-BEFO Y H— - B - 4
108 € & # % 261 261 0|E:E - R EA E AT - 44
11 & = E-y 210 201 v oLy MMER - [EEIBHE - 4
120 R & X %& 473 473 0(|Ra7Hh—FK - $BUEE - 4%
1338 23 m & 3,003 3,172 A 169|=E%E - BE¥/m - 4
148 £ B & B 1 300 A 299
15 & e # 5, 143 2,550 2,593
16 3%t =) K # 5,100 5,100 0|EBS - k&
17 #% # -y 6, 080 5,040 1,040| R4 > —F4Ti - HR - |FEH— MK - 4
1858 &8 B £ T # 14,910 12,597 2, 313|E4R - s, FHKNEHESR
193 L 72 K £ & 1 1 0
20 #% b5 B E-y 1 1 0

20— REBE 91, 361 81,675 9,686
1% # F E] 36, 786 33, 391 3,305 (BB - KB - R BHFY - BEXRFL - 4
2® M E £ % 6, 302 5,362 940|3% - BRRE - #2RKREEE - 4
3 8 & 11,125 9,343 1,782




— L - iﬂ *; B g EETREnEETAE 8 A i %
4 H R U 8 H 8, 800 5,963 2,837 |EERAMMEL. ERTV—VFET 5
5 E # o & 3,500 4,200 A T00|EBAEM - A1 - 5
6E 8 & = B 1 1 01 H10FARBEDEM - 55
1 & fied # 2,000 1,980 20| 0—REEAMHM - EAK T VR -4}
5w B T % & i 00| 4 899 — < -
9 ¥k # -4 2,400 2,400 0| ERsp k% - 4+
10 | # # -4 6, 400 6, 699 A 299|NIF - EFZHEF - TERBH - 4
11 % i) - 12,196 9,391 2, 8050 —REBERAER
12 BB # E-y 500 495 S|z —REEAEL
13 & it # 1, 350 1, 550 A 200|BARKRET - 5
3 JLUTEBFARIH 11, 483 11,676 A 193
T TBAARIH 11, 483 11,676 A 193|i&% - 0.5R 1 A350M
4 1 WI-REHIH 418 413 5
1T VIT-BREHZE 418 413 5|1 ALY7H
5 viFYa-rEAH 49,414 49, 414 0
viFYa-z2FEAH 49,414 49, 414 0|z y a—xfEthi
6 m £ A 8, 000 7,000 1, 000
18 Lo T A 4,000 3,000 1,000
2 B LT T A 4,000 4,000 0
2 o EFI—RBEE 394, 897 379, 105 15,792
18 ¥ &€ 82 B 160, 968 150, 886 10, 082
1 # # F E] 19, 297 17, 356 1,941 BB - KB - 5 - BHFY - PXRFL - 4
2%/ M O E £ B 71,17 6, 685 486|%% - BRARIE - & BRKREEE - 5
3 B € 33, 281 31,732 1, 49 |EgrsRs 8
. = 1 1 0
5 % & E-y 1 1 0
s& B = 1 1 0




-6 -

B E #®

* & 8 = g N AEEFHEMEETHS B R & £
1T F 8 # 14, 421 14, 421 O[ovy" yhh-b FHk. FPHRTFHRHM. fh
8 &R 53 # 1,500 1,320 180
I H R U B H 10, 980 10, 475 505|&AA—bF - aE—# - BESKO vy H— - EFE -5
108 § & #% & 1,994 1,994 0|B:E - LA EHEA - 44
1M1= & = 593 593 O/ S> 7Ly MMERE - &8 - 5
120 Rl ® X % 1,664 1,984 A 320|237 H— K - $5UREE - 4}
13 3H k=3 & & 4,229 4,913 A 68A|EHA - BEA - 4
HE &8 " & B 1 200 A 199
15 & # # 3,100 2,318 782
16 3t B K # 14,310 14,310 0|EX - K&
17 #% * = 10, 200 8, 664 1,536| R4 S—m4TE - HR - TAH— FEKE - 4
1858 & B £ it # 30, 671 26, 795 3, 876|%#® - L& - 5KQNEESR - 4t
193 L 7 K & & 500 500 0
0m ®H # = 7,047 6,617 A0(F—TFravRER - TSAR—FaVRER -5t
2 00— RXREEE 98, 517 95, 280 3,237
1 # # F ] 40, 961 41,417 A AS6(EEMRH - KE - £F - BEFY - HERFY - 4
2%® B E &£ B 8, 861 9, 206 A 345|535 - BERRE - #RIRE18EE - 4
3 8 & 20, 808 16,187 4, 621 |ekEsm 8
41 B R U B H 3,471 5,272 A 1,795 &2 mAkH
5 F # # 50 50 O|EEmLE - 5t
6 iH # &R # 3, 491 3, 491 O|EEREM - A+ 1)L - 5
THE B B & B 1 1 0| 1 H10BFRBDMM - BR
8 & # # 3,300 3,300 0|2 —REEAMH - 4
9% & T E B 1 1 0
10 #% # = 2,300 2,300 0| &EmMgsr IR - 4t
MR # #®H 8 6, 530 6, 463 67|)NIE - 3B - LIRKBH - 5
12 & fh & 843 843 0|2 —2EERAER




B E ® B

A T AEEFHENMEETHSE B ® -1 %
#} =4 3, 654 3,509 145|2— X EERAEH
it # 4,240 3, 240 1,000(MEEE - I —REHKSRE - 4
3 JLTBAARIH 16, 557 15, 823 734
ILTHRARIE 16, 557 15, 823 T34|@% 1 A650M - 0.5R 1 A350
4 1T 77-REH X 318 320 A2
I -RER T 318 320 A 2|1 AHYTH
5 FeFI1-AEAN 39, 267 39, 267 0
TR EF1-2FERH 39, 267 39, 267 OftE sy 2 — R EEA%
6@ & £ A 10, 560 9, 600 960
ot A 10, 560 9, 600 960
T TR EREEERR 68, 710 67,929 181
T# ®H F 05 5, 654 6, 496 A 842\ EMEH - B - - BHFY - MAKFL - 4
2%/ M E & & 3, 556 4,132 A 576|355 - BERRK - HERIREES - 5
3 B & 30, 000 33, 000 A 3,000 |eErE S
4B & £ A #H 24,200 22,000 2, 200|&#1
5 £ & # 3,000 1 2,999 |iiERE
6 & f& # 300 300 0
1 F # # 400 400 O|FEEMLE - BRE - 41
8 H & U B H 400 400 0
9 #®#£ & =& 1,000 1,000 0
10#H # B & # 200 200 0] 1 #10BARBEOREEHR
ELrBEERE 111, 645 116, 578 A 4,933
RELrEEER 111, 645 116, 578 A 4,933
1T# ® F 04 13,518 13,518 OB - B - 2F - BHFL - YKFH - 4
2/# M B & # 3, 564 3,564 0|5 - BARK - H2RIFEIEE - 5
3 & & 16, 874 16, 243 631|AEEIFIE - BT ()
4 # # 229 229 0

-7 -




e L qjiﬂ *; g AEEHEmEETAE % W i %
5 & it # 44, 603 44,756 A 153[%6 - #18 - Bknms - o
6 & % # 1,247 1,247 0
I REEEE 3,310 3,265 45(y—= 4 - 51
8@ & & W B 342 342 0
9 R W A B 218 305 A 87
0 # & =B 3,195 3,195 0
11 1 # 3,000 3,000 0
2% @ Kk B 13,815 19,156 A 5,341
13 1% # % 769 797 A 28
UE # #H & 566 566 0
15 % & E 600 600 0
166 = & A # 191 191 0
s % & B & 1,611 1,611 0
18| B oa B 3,993 3,993 0

RAHAEZAEES 299, 078 252, 816 46, 262

BHAEZAEER 299, 078 252, 816 46, 262

1% B 0 F oM 11, 757 11,822 A 65|mBRE - H% - £ - BHFY - HRFY - 4
2% A B £ B 2,712 2,631 81|53 - BAEE - HaRBREES - 4
38 % 5,214 5,056 158
4 F % # 870 883 A 13
5 & it # 245, 597 206, 097 39, 500( &% - #ANE - 40
6 1% % # 342 342 0
T OB R U B 12,084 6,094 5, 990 it 5 £1
8@ 8 & W B 159 159 0
9 E & & 2, 696 2,540 156
10 f& 1 # 4,500 4,500 0|amises - #EBE - o
11 1% # & 1,633 1,345 288




L q:iﬂ *; T AEEFHAMEETHE B -1 %
nr # H B 3,637 3,582 55
13 % & H 2,035 1,940 95| Al - WEH
ME W & B = 1,500 1,500 O|EBEMOIBHESE
5% % & B % 1,990 1,990 0
168 & o & 2,352 2,335 17
78,623 101,815 A 23,192

- B g B 28,090 46,396 A 18,306
1T# ® F o0& 1,433 6,202 1,231 |BEHH - BE - 2R - BHTFL - WKFL - 4
2#/8 F B £ B 7,100 6, 643 457|135 - BRRE - HRRIREESE - 5
3 & £ 3,500 3,500 O|mmrmt e (E3)
4% B ®H B 300 300 0
5 iR B £ 1 20,000 A 19,999
6 REBBEABES MK 6 1 5
7 & H 50 50 0
8 1 b g 1 1 0
9 = # o 1 1 0
10 % i =4 30 30 0
ne 18 7 1 1 0
128 i} & 756 756 0% - BHER - 4t
13 F # # 443 443 0
14 & -3 # 1,541 1,541 0|k - BEHE - 5}
156 # &R U £ # 2,816 2,816 OlavEa—%—1)—2% -4
168 £ & # = 430 430 O|lavEa—%2—mE# - 91F - 5t
17 R ® X & 1 1 0
18 #®# & # 1,185 1,185 O| %R - EHA& - 5
198 # & & 1 1 0
0% € B2 £ 8% 2,400 2,400 O0|Pcv T R, 5




- 10 -

e L qjiﬂ ﬂa 2 g AEEHEmEETAE % W i =
2R # & A # 93 93 0
22 # =1 1 1 0
23 ® »n & 50, 533 55,419 A 4,886
1 i bl % 3,245 3,371 A 126|EEEER - TRER - 54
2 ik A # 12, 088 16, 948 A 4,860
3 H & b 35, 000 35, 000 O| R &R AIHGEBB R URIHER
4 B foi3 b 200 100 100
6 & A & # F 6, 954 9,061 A 2,107
& A & 0 F 6, 954 9,061 A 2,107
1 BARAF(BEED) 0 1,118 A 1, 118|REIEAS GEEESR) FIF
2 EBARF(ZREZ) 0 0 Ol pEa—RBRESEALNF
3 HEARNF(EEER) 6, 954 7,943 A 989 BEES (BEM) BALNF
T EEEERRBE 24,267 24,008 259
1 O—XEHRIEE 1 1 0
I—XERIFE 1 1 0
2B Y B B B 1 4,015 A 4,014
B v B & B 1 4,015 A 4,014
S BEEDRERE 8, 660 10, 000 A 1,340
B EYEZE 8, 660 10, 000 A 1,340[h— FEBEH. TS5 NET(TS5VF
4 BHKEBEBAE 1 1 0
BEEBEEAR 1 1 0
5 BEYMBEHRIKER 10, 599 3,000 7,599
BYKMBERmESR 10, 599 3,000 7,599 |esks5—. agr—5— vizyEBE. BEs/—5
6 REFRBAE 1,000 2,986 A 1,986
HERBIBAE 1, 000 2,986 A 1,986(vEYER
7T EFERERBAE 4,000 4,000 0
EWMEHREBAR 4,000 4,000 OlvEYaAgRA—+ (hE) 104




e L qjiﬂ *; B g AEEHEmEETAE % W p %
8 M M B A B 1 1 0
M oM OB A B 1 1 0
9 + # B A & 1 1 0
+ #h B A E 1 1 0
10 ## & # 1 1 0
# & #1 1 1 0
11 VEREEERSE 1 1 0
VEBRTEERSE 1 1 0
12 gy A 0 0 E 1 1 0
AR B RS EEAR 1 1 0
8 AL EES 55, 600 126, 600 A 71,000
BALEES 55, 600 126, 600 A 71,000
BASEES (BXEE) 0 71,000 A 71, 000|E#ifEAE (EEES) #HES

BALEES (BEESD) 55, 600 55, 600 O|REIEASE CEEES) HEE S5
9 % E & B & 1 1 0
K E HE# B B 1 1 0
K F # B E 1 1 0
10 % 1 & 300, 056 300, 361 A 305
¥ & -4 300, 056 300, 361 A 305
b4 & E-y 300, 056 300, 361 A 305
& H 1,535, 815 1, 554, 899 A 19,084

- 11 -




